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1. Har & fou vy o 2 1. Leader decision-making is :

(A) R (A) Compulsory

(B) 3fRYD (B) Necessary

(C) IRy D (C) Unnecessary

(D) W &I g4l (D) Wastage of time
2. g & PN B 2. Function of leadership is :

(A) SIRFH =T (A) Risk taking

(B) o o (B) Decision-making

(C) FgERIS frareH (C) Business planning

(D) SUgad JHI (D) Al of the above

3. @ @ X 3R Y fERERT &1 yfded 3. X and Y theory of leadership has been

fopar 2 propounded by :

(A) <re A (A) Teed

(B) e (B) Bernard

(C) HEIR (C) McGregor

(D) < H (D) Terry

4. foee o yg yonferdt & : 4. Likert’s management Systems are :

(A) 4 (A) 4

(B) 5 (B) 5

(C) 6 (C) 6

(D) 8 (D) 8

0409 (3) Set-D



0409

SERNICIREETLL I
(A) 3ITD

(B) 3D

(C) fard

(D) SWa &l

fheer died TR @
(A) I d

(B) TS W

(C) AU |

(D) SWH # W B &l
TR U YfshaT @ -
(A) Waq

(B) 3r¥dq

(C) TdR®I

(D) SWa ¥ ¥ I3 T
] G G B¢ @
(A) Sfad Fewr <
(B) 3 fopam

(C) e waw <
(D) SUYa H A Bl 7l

(4)

Opportunities analysis is :

(A) Necessary
(B) Unnecessary
(C) Compulsory

(D) None of the above

Fiedler’s model is related to :
(A) leadership

(B) organization

(C) listening

(D) None of the above
Communication is a process :

(A) Continuous
(B) Discontinuous
(C) One-way

(D) None of the above

Main objective communication is :

(A) Proper messaging

(B) Discontinuous process

(C) Miscommunication

(D) None of the abvoe

Set-D



10.

11.

0409

(A) 4

(B) 6

C) 8

(D) 10

JTaqul FRISOT BT PRIDE Al (HaHT)

fear

(A) A TG A
(B) Tells o™ of.
(©) fofery (@) 7
(D) Suga H A Bl 7Tl

AT B |

(A)  FHAR TR B [dprd
(B) AT fageryor

(©) T (A) 3R (B)

(D) SUYa H A Bl 7l

(5)

10.

11.

Total parts of Murphy’s model

are ........... .

PRIDE model of effective

communication is given by :

(A) Vardhaman and Vardhaman

(B) Floyd James J.

(C) Pnhilip Morgan

(D) None of the above

First objective of effective

communication is ................. )

(A) Development of human relations

(B) Audience analysis

(C) Both (A) and (B)

(D) None of the above

Set-D



12. Y9Il GRINUT & foU Javgahdr /Il 12.  Effective communication requires :

g

(A) W< Ud IR i al (A) Clear and simple expression
(B) ol RN Td favar @l (B) Mutual co-operation and
confidence
(C) G (A) 3R (B) (C) Both (A) and (B)
(D) SWE ¥ | TS el (D) None of the above
13 Gt WaR Pl @@ErE @ 13 Effective communication of any business
EY IS oo .
(A) Sia ad (A) Life Blood
(B) YMTaqUl sfqurdT (B) Effective Listening
(C) 3EHR (C) Proudness
(D) SUYd H § I el (D) None of the above
14. gf%:tguf 3aTe T 2 14. Faulty translation is related to :
(A) T RN | (A) Somatic barriers
(B) HIfU® 1R 3 (B) Physical barriers
(C) HIGTHS IR A (C) Emotional barriers
(D) SUYa H A Bl 7l (D) None of the above

0409 (6) Set-D



15.

16.

17.

18.

0409

IRIR® AT TR @
(A) TG FRY |

(B) ol Y@ |

(C) IRV ¥

(D) SWH # | B &l

ferr=or fen @ 9 €
A) 2
(B) 4
C) 6

(D) 8

=01 gl B @
(A) 3Rt
(B) JMAAEH
(©) e
(D) ST # | BIg T2l

(RIS RARNT frdT A il
g

(A) IqAFT gRT =0

(B) @& gRI =0

(C) Ml grT fFrr=rmm

(D) ST W

(7)

15.

16.

17.

18.

Body language is related to :

(A) Personal barriers

(B) Hello effect

(©)

Inspiration

None of the above

(D)

Control process elements are :
(A) 2
(B) 4
(C) 6

(D) 8

Control is a managerial function :

(A) Compulsory
(B)
©)

(D)

Necessary
Optional

None of the above

Traditional or general techniques of

control are :

(A) Control by Observation
(B)
(©)

(D)

Control by Audit
Control by Policies

All of the above

Set-D



19.

20.

21.

0409

yea e fer w19

g

(A) STIdH WRIT GaIBI gRT
(B) WeIH W UGB gRIT
() 7 T ysuat g

(D) Suded wdl

gRad 2 20.

(A) T DI q9iQ)
(B) AMaTH
(C) IHIaTD

(D) NN B qTdl

Qﬁﬂﬁ?aﬁﬁﬁ?ﬁé 21.

(A)
(B) oW
(C) 3= I

(D) ST W

(8)

Managerial control is

done :

(A) By top level managers

(B) By middle level managers

(C) By low level managers

(D) All of the above

Change is :

(A) Wastage of time

(B) Necessary

(C) Unnecessary

(D) Wastage of resources

The speed of change is :

(A) Slow

(B) Fast

(C) Veryslow

(D) All of the above

Set-D



22.

23.

24,

25.

0409

“ORads ye= & aifFad 217 I8 doF 22

g

(A) Tefd @I
(B) WA &I
(C) TR @I
(D) X @1

uRad- Jew o Ufhar © 23.

(A) URTIH & BRUN BN ST BT
(B) URTdH! DI AT BT T BT
(C) UfRM BT AR F=Ar

(D) SR

RaTe & YR & BRI g 24,

(A) AR BT AR
(B) WS®IdI T UfR
(C) SIfeRITd BRI

(D) SHIE W

tlﬁﬂﬁ‘r[ﬂ%ﬂ'c}z‘%% 25.

(A) IRIIT BT W

(B) URIGH &I Uo IR<fdedr &

(C) IRIH & W®

(D) Sugad Wl

(9)

“Change is compulsory in management.”

This statement is of :

(A) Allen
(B)
(®)

(D)

Fayol
Taylor

Terry

Process of management change is :

(A) Knowing the causes of changes
(B)
©)

(D)

Preparing plan for changes
Over-coming resistance

All of the above

Causes of resistance to change are :

(A) Challenge to existing position
(B)
©)

(D)

Resistance by managers
Individual factors

All of the above

Nature of change is :

(A)
(B)
(©)
(D)

Objective of change
Change is a fact
Ways of change

All of the above

Set-D



26.

217.

28.

29.

0409

TS Bl JMIRAGAT B :
(A) 9 TR R
(B) T ¥R W
(C) S 'R W

(D) SWa &l

frfoad & dF-91 ve™ & BRI T
g7

(A) WS

(8) frrSH

(C) oIEid

(D) fAezH

U9 $ fbae dcg 8 ?
(A)
(B)
©)
(D)

~N W B~ o

(A) 3MIIH
(B) VNI
(C) tw
(D) SUYa H A Bl 7l

(10)

26.

217.

28.

29.

Management is needed at :

(A) Lower level
(B) Middle level
(C) Top level

(D) All of the above

Which of the following is not the function

of management ?

(A) Organization
(B) Planning
(C) Accounting

(D) Direction

Elements of management are :
(A) 5
(B) 4
€ 3
(D) 7

Innovation 1S a ..eeveveeeee... function of

management.

(A) Compulsory
(B) Subsidiary
(C) Voluntary

(D) None of the above

Set-D



30.

31.

32.

33.

0409

g B fIRIYan B :

(A) TS UF UfhaT §

(B) VS UG MG Ufhar B
(C) ey

(D) SWa &l

THIY ART &l T ¢
(A) e A

(B) oA H

() = |

(D) SWE ¥ | TS el
Ye B T I §
(A)

(B) 9iaH

(C) fAezH

(D) ST T

fiSTe @ TR yerarg e &

(A) 4
(B) 5
C) 3

(D) 8

(11)

30.

31.

32.

33.

Characteristics of management are :
(A) Management is a process
(B) Management is a social process

(C) Group efforts

(D) All of the above

Standard costing is related to :
(A) Planning

(B) Organizing

(C) Controlling

(D) None of the above

Main functions of management are :
(A) Planning

(B) Organizing

(C) Direction

(D) All of the above

According to Mintzberg managerial roles
are :

(A) 4

(B) 5

(C) 3

(D) 8

Set-D



34.

35.

36.

37.

0409

Yo &7 MR © 34.

(A) fofae

(B) qaIgAH
(C) fdde

(D) 93

IS ye b o g 35.

(GVARIELE]

(B) TeeH #al
(C) TN A
(D) T®. Sg, CoR

T ARHR B 599 B ¢ : 36.

(A) BHANAT B FYfad BT
(B) 3ifex o

(C) fadT @1 yev o=

(D) TN AN & D Bl

ERICE R 37.

(A) rord & fere
(B) wfw & forg
(C) AN & ferg
(D) ST W

(12)

Base of planning is :
(A) Decision-making
(B) Forecasting

(C) Alternatives

(D) Selection

The father of Scientific Management is :
(A) Simon

(B) Elton Mayo

(C) Henry Fayol

(D) F.W. Taylor

The main function of liason officer is :
(A) Appointment of employees

(B) Book orders

(C) Manage Finance

(D) Contact outside public

Planning is for :
(A) Past

(B) Future
(C) Present

(D) All of the above

Set-D



3. Wid IR & & IR M & 38 According to George R. Terry, the types

of planning are :

YR T -
(A) 8 (A) 8
(B) 6 (B) 6
<€ 2 (C) 2
(D) 4 (D) 4

39. o @1 ol © 39. The function of decision-making

IS :

(A) 1 g (A) Lower Management
(B) H&IH Y (B) Middle Management
(C) 9= UgY (C) Top Management
(D) Sugad F4I (D) All of the above

40. UR¥IAT faddedr @I SqUNUT e 40. The concept of bounded rationality has

3. been given by :

(A) SIS 3R, S @l (A) George R. Terry
(B) UICX Th, SN &I (B) Peter F. Drucker
(C) 3R TH. SR Bl (C) R.S.Davar

(D) EEC AR B (D) Herbert Simon

0409 (13) Set-D



41.

42.

43.

0409

“ig e fod e W OfReE dem 41

= e & wWW g1 e
HEl 7

(A) Bfds T4 3IueH

(B) sl

(C) W

(D) SWE & W B &

BIF-A T IR FIH HEAUl & ? 42.

(A) INIR® S
(B) T vy
(C) ISR HIEIHR

(D) Suga Wl

IR B fafer 2 43.

(A) ST BT MR BRAT

(B) GQIRT U+l

(C) WRVUIHD TN BT AQrdre

(D) ST W

(14)

“Financial management is the application
of the planning and control function to

the finance functions.” Who said ?

(A) Howard and Upton

(B) Bradley

(C) Drucker

(D) None of the above

Which of the selection steps is the most

critical ?

(A) Physical examination

(B) Selection decision

(C) Employment interviews

(D) All of the above

The process of motivation is :

(A) Determination of objective

(B) Re-management

(C) Communication of motivational
plan

(D) All of the above

Set-D



44, YIRIDI MBI DI SOl E 44. Categories of managerial roles are :

(A) IFIdTdaTd qHHIY (A) Interpersonal roles

(B) GurIrcAd ATy (B) Informational roles

(C) s qHaHy (C) Decisional roles

(D) SWa &l (D) Al of the above

45. RIS e @ & 2| 45. Planning is the ... function of
management.

(A) TIHS (A) Primary

(B) fgar® (B) Secondary

(C) THI (A) 3R (B) (C) Both (A) and (B)

(D) SUYa H H IS el (D) None of the above

46, “SEl gNT yay sifvaq gRumm 217 I% 46. “Management by objectives is the final

DUT T result.” The statement is of :
(A) Vel @1 (A) Allen

(B) <& (B) Terry

(C) g @I (C) Drucker

(D) SIR @I (D) Davar

47. “TET ENT U B WH W a1 R 47. “Management by action technique should
be applied instead of management by

Jq] @] dhID! o] DI ST |” Ig Gid

objectives.” The suggestion has been

fea & given by :

(A) YR T, $aR A (A) Peter F. Drucker
(B) T &. Wl A (B) N.K. Sethi

(C) Ter H (C) Allen

(D) SUYa H A Bl 7l (D) None of the above

0409 (15) Set-D



48.

49.

50.

0409

“IL  gRT U9 Ffed Bl

JRURT I § 3B &1 217 IE A

(A) T TH. 58 B
(B) IR, TN, SR P
©) & fa=T @

(D) 3. U%. Ta. 819 &

N wgun
(A) TR

(B) dciTaar

(C) HI (A) 3R (B)

(D) SWFE H W Pl T

Farferd FRITeH 2T @
(A) 3BT
(B) HIBICIA
(C) WP
(D) SUYa H A Bl 7l

(16)

48.

49.

50.

“Management by  objectives  has

failed to motivate people.” This statement

is of :

(A) A. M. Brown

(B) R.S. Davar

(C) Harry Levinson

(D) E.F.L.Breech

Planning must be ................ .

(A) Flexible

(B) Inflexible

(C) Both (A) and (B)

(D) None of the above

Corporate planning is :

(A) Short-term

(B) Middle-term

(C) Long-term

(D) None of the above

Set-D



51. UMD IIo] yg*] gRT 919 51. Strategic planning is done by ..............

\_rﬂT‘ﬁ % | management.

(A) SRR (A) Top

(B) HEIHRNIZ (B) Middle

(C) T (A) ¥R (B) (C) Both (A) and (B)

(D) SWE ¥ | TS el (D) None of the above
52. BRI BT SUINT BT B 52. Strategy is used :

(A) T H (A) In business

(B) W # (B) In military

(C) & H (C) Inindustry

(D) SUgad JHI (D) Al of the above

53. SR (ARGWpWeTe) Ue  fAvlge 53.  Brainstorming is a decision ............ :

(A) dHID (A) Technique
(B) figr (B) Principle
(C) T (A) 3R (B) (C) Both (A) and (B)
(D) TN (D) Work
54. o= < a7 effee o ¥ UD Bl 54. Selection of one out of two or more
TEERT R e is decision-making.
(A) fapei (A) Alternatives
(B) figr (B) Principles
(C) = (C) Top
(D) (D) Middle

0409 (17) Set-D



55.

56.

57,

0409

SWOT &1 SWIIT Bl &
(A) TR faveryor #
(B) BRI feiRor #
(C) =M (A) 3R (B)
(D) SWH # | B &l

N — ¥ s R
gl / St B T qfe gl g |
(A) e

(B) T

(C) &

(D) SWa ¥ ¥ I3 T

fyerforRaa & & M Herd S GTd & 7

(A) TTET Jewayet £ |

(B) WIGd Al WYE W W Il
gl

(C) Ted 3iUaiR® Tl SFIYAIRG

T YR BT 8 qhT 2 |
(D) JHTARE IS AT B g9 SIrel

&

(18)

55.

56.

S57.

SWOT is used :

(A) Inenvironment analysis
(B) In strategy formulation
(C) Both (A) and (B)

(D) None of the above

Managers/workers play a vital role in

goal determination under M. B. O. :

(A) Planning

(B) Work

(C) Managers

(D) None of the above

Which one of the following statements is

inconsistent ?
(A) Organisation is purposive.
(B) Organisation relates to group of

people.

(C) Organisation may be formal and

informal both.

(D) Formal organisation takes its shape

suddenly.

Set-D



58. Yo UfhdT b Phed © 58. The organisation steps are :

(A) 6 (A) 6
(B) 4 (B) 4
€ 8 (C) 8
(D) 2 (D) 2
59, TS H AT © : 59. Leaders in the organisation are :
(A) S TG (A) Top managers
(B) IRl (B) Shareholders
(C) ¥4 YgHd (C) Middle managers
(D) UIderd (D) Supervisors
60. WG TP O © : 60. Organization is a group of :
(A) Sl &1 (A) Persons
(B) URARI @I (B) Families
(C) IamRIf &1 (C) Leaders
(D) < @I (D) Countries

61. f=folRad & | @ Hod &1 fRierd 61. Which of the following is not the

T principle of organisation ?

(A) ¥Uare &1 Rigra (A) Principle of exception
(B) °ld &l Rigr (B) Principle of flexibility
(C) faRaxm &1 Rigra (C) Principle of specialisation
(D) AIIGARN DI FAIG BT RIgr (D) Need hierarchy theory

0409 (19) Set-D



62.

63.

64.

0409

“TeA Ffddl BT Uh Y8 © ol A
See @ Y 7q FReM & v qganT
AR & |7 Ig U fbdapT § 7

(A) IR . sfag
(B) &

(C) Ofl. 3R, <X
(D) W Te

“Aed I BT AR YARRG U e
Ifdd T & Wed deard g7 fhed

Pel 7

(A) ATHRES

(B) OfN. 3R, X1

©) &

(D) SWa ¥ ¥ I3 T

YIRS {5 S wed B
(A) SIEHR & /eI Bl
(B) 3IRBRI
(C) SarEqeEl
(D) SWad # | BIS T

(20)

62.

63.

64.

“As a group of people who are co-

operating under the direction of

leadership for the accomplishment of a

common end.” Whose statement is this ?
(A) R.C. Davis

(B) Haney

(C) G.R.Terry

(D) Louis Allen

“An identifiable group of people

contributing their efforts towards the

attainment of goals is called

organisation.” Who said ?

(A) McFarland
(B) G.R.Terry
(C) Haney

(D) None of the above

Delegation can be done of :
(A) Subordinate

(B) Officer

(C) Accountability

(D) None of the above

Set-D



65.

66.

67.

68.

0409

BAIITI] SUYA ©

(A) Bl SUBHEl B frU

(B) WEIH ATHR dlel SUHAI B forw
(C) 9% SuHH & fory

(D) SWE # W B &l

feIaeeT IUYA ¢

(A) B MBR dTel IUHH & folw
(B) HEH TR dlel SUHAT & forg
(C) T 3R dTel IUHH & folw
(D) STda # & Big AL

e R el @ foy e Suged
T

(A)  fap=rgaeo

(B) BHEIIGRI

(C) < ATHR dTel SUHH

(D) SWa ¥ ¥ I3 T

NGl U4 HHAN] e
EGIRS

(A) BRI

(B) fadm=rgadeo

(C) THI (A) 3R (B)
(D) SWad # | BIS T

® T[]

(21)

65.

66.

67.

68.

Centralisation is suitable for :

(A) Small Enterprises
(B) Middle Size Enterprises
(C) Large Enterprises

(D) None of the above

Decentralisation is suitable for :

(A) Small Size Enterprises
(B) Medium Size Enterprises
(C) Large Size Enterprises

(D) None of the above

For lower level managers more suitable
is:

(A) Decentralisation

(B) Centralisation

(C) Large size enterprises

(D) None of the above

Line and staff organisation emphasises

on.......oeeeie .

(A) Centralisation
(B) Decentralisation
(C) Both (A) and (B)

(D) None of the above

Set-D



69.

70.

71.

0409

A |G H Wik fdevs & g

IR

(A) TRTT <A7 T I BRI HRem

(B) XWI Ydwd bl IR # PR
QT

(C) =

(D) STda # & Big AL

ARPR & TR & :

(A) T ARFR

(B) Tharcid SIEIBR

(C) SN (A) 3R (B)

(D) Suga Wl

“URPR T I G W © IR Ifad

fyofaf &1 arem BN BT 9y dedl 217
fore et ?

(A) WdeH Sl 2

(B) Fued

(C) TR

(D) SUYa H A Bl 7l

(22)

69.

70.

71.

Main function of staff specialist under

functional organisation is :

(A) To advise and to implement it

(B) To take charges of job in the

absence of line manager

(C) Goodwill

(D) None of the above

Types of authority are :

(A) Line Authority

(B) Functional Authority

(C) Both (A) and (B)

(D) All of the above

“Authority is the right to decide and the

power to act to carry out decision.” Who
said ?

(A) Franklin G. Moore

(B) Koontz

(C) Chester

(D) None of the above

Set-D



72. SRS BT & 72. Responsibility is of :

(A) IR A (A) Subordinate
(B) 3fEIBR 1 (B) Officer
(C) THI (A) 3R (B) (C) Both (A) and (B)
(D) SUYa H H Bl el (D) None of the above
73. TEHON AR ¢ W § 73.  Sources of managerial authority are :
(A) SivaRe AffeR Rigrd (A) Formal authority theory
(B) Wl @1 g (B) Acceptance theory
(C) &mar Rrgra (C) Competence theory
(D) SUgad JHI (D) All of the above
74, IRENIE & UIR & 74.  Kinds of responsibility are :
(A) ¥dq STREIIE (A) Continuous responsibility
(B) fiy STReRE (B) Specific responsibility
(C) THI (A) 3R (B) (C) Both (A) and (B)
(D) Suga H A Bl el (D) None of the above
75. UE% oigieA Ud INAT B 75.  Management Accounting is a branch of :
(A) &I oared o (A) Financial Accounting
(B) T olEid ! (B) Cost Accounting
(C) oGIHT P (C) Accounting
(D) SWE ¥ ¥ FIg el (D) None of the above

0409 (23) Set-D



76.

77.

78.

0409

ferdl Jushd H IR T ol dd FHY

& o9 I 910 B

(A) =0T 4 gfde

(B) T H B
(C) @ R =

(D) SHIF W

frmfiaexer &1 HaRT | gug gedr

g
(A) Hf0® ga=

(B) e # gy

(C) <Ml (A) 3R (B)
(D) SWa ¥ ¥ I3 T

PF-H GIeA U & ™ dd

g ?
(A) TR

(B) JiTaTRe =l Bl Ao

(C) =M (A) 3R (B)
(D) SWad # | BIS T

(24)

Factors to be kept in mind while creating

departments in an enterprise are :

(A) Facility of control

(B) Aid in co-ordination

(C) Control on expenses

(D) All of the above

The effect of departmentation on workers

is:

(A) Moral decay

(B) Increase in efficiency

(C) Both (A)and (B)

(D) None of the above

Which are the key elements

organisation process ?

(A) Departmentation

(B) Set formal relations

(C) Both (A) and (B)

(D) None of the above

of
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79. f=faRad § 9 -1 97 @ gk 79. Which of the following is a contingency

e aaT wah 57 factor determining organisational

structure ?

(A) eI TG IO (A) Goals and strategies
(B) fawmiraa=u (B) Departmentation
(C) SN (A) 3R (B) (C) Both (A)and (B)
(D) Sugad H | BIg el (D) None of the above
80. fhurcA® WIS & SF9eIdT & 80. The founder of functional organisation
is :
(A) <0 (A) Terry
(B) WA (B) Fayol
(C) TR (C) Taylor
(D) TG (D) Appley
81 TN UKIT Il & : 81. Discipline exists in :
(A) T A6 | (A) Line organisation
(B) %97 Ud HHARI e H (B) Line and staff organisation
(C) THI (A) 3R (B) (C) Both (A) and (B)
(D) SUYa H A Bl 7l (D) None of the above
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82.

83.

84.

0409

“afefa oFaREe B B & folw

AegdH & §RI SWEd g9 b g
A e 17 fba der ?

(A) B TG IS

(B) o

(C) B

(D) TR

YT IS, HIe B Y B |

(A) T
(B) WA
(C) M
(D) SWa ¥ ¥ I3 T

AT B Uhd B G
e W [ T8 AR 8l & |
(A) FREED

(B) WA

(C) T

(D) T

(26)

82.

83.

84.

“Committee is the association made up of
the unfit selected by the unwilling to do

the unnecessary.” Who said it ?

(A) Koontz and O’Donnell

(B) Terry

(C) Fayol

(D) Taylor

Line organisation is a form of ...............

organisation.

(A) New

(B) Oldest

(C) Modern

(D) None of the above

Principle of unity of command fully

appliesto ................ organisation.

(A) Functional

(B) Oldest

(C) Line

(D) Modern

Set-D



85.

86.

87.

0409

affy dwed §  wmruaar  afafot

(A) R

(B) FRIBRI

(C) aHI (A) R (B)
(D) STda # & Big AL

“ort Bl 3Red a8 ¥ BRI B B U
TIcATRd bRl 1 AR 1 817 fhae
ol 7

(A) T 9

(B) &UCH qAT A

(C) ¥

(D) Wi

frfeRad & -\ afRom @
SR & ?

(A) Tl aERom

(B) IS SFaeRomn
(C) HFAIg AE Bl AGROT
(D) ST W

(27)

85.

86.

87.

Generally the  committees

committee organisation are of ..............

nature.

(A) Advisory

(B) Functional

(C) Both (A) and (B)

(D) None of the above

“To motivate is to induce people

to act in a desired manner.” Who

said ?

(A) Stanley Vance
(B) Koontz and O’Donnell
(C) Breech

(D) Scott

Which of the following is motivation
concept ?

(A) Process concept

(B) Psychological concept

(C) Human satisfaction concept

(D) All of the above

Set-D



88.

89.

90.

0409

frefeRad & 9 oH-a1 RO @

UFR B ?

(A) THES Td FOTHS TR0
(B) URTTH 3FfIUROT
(C) T (A) 3R (B)

(D) SWH # W B &l

SR & ThD g

(A) T T G AR

(B) TFIH G ifaRom

(C) HIMA HAER §RT AR

(D) SHIE W

frferRad & & BH-9 AR BT \gg
IR B ffad T € ?

(A) STEH

(B) wftrugl

(C) o=

(D) ST W

(28)

88.

89.

90.

Which of the following is a type of

motivation ?

(A) Positive and negative motivation

(B) Changes motivation

(C) Both (A) and (B)

(D) None of the above

Techniques or methods of motivation

are .

(A) Motivation by efficient leadership

(B) Motivation by challenge

(C) Motivation by human behaviour

(D) All of the above

Which of the following are essentials of

sound motivational system ?

(A) Productivity

(B) Comepetition

(C) Flexibility

(D) All of the above

Set-D



91. 3IfYURTT HT YbR Tl © 91. Types of motivation is not :

(A) EFTHS UG RUTHD (A) Positive and negative
(B) Ifd® 3R FE B (B) Individual and group work
©) friy iR afxf (C) Financial and non-financial
(D) g AR (D) Group motivation

92. Y Udh JITHhdT ¢ | 92. Speechisa............ need.
NI (A) Social
(B) 3@ (B) Economic
(C) G (A) 3R (B) (C) Both (A) and (B)
(D) Suga H A Bl 7Tl (D) None of the above

93. 3Mifad UROMT § : 93. Non-monetary incentives are :
(A) SIfd e (A) Job security
(B) ®T Bl AT (B) Recognition of work
(C) R T YmIoH (C) Delegation of responsibility
(D) Sugad FI (D) All of the above
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94.

95.

96.

0409

Z foaRuRT @ faemars € -
(A) [wa &0

(B) HHATRAT BT HFER!
(C) T (A) 3R (B)

(D) Suda Wl

T, U9, A%l i o

(A) SHN B
(B) 3HR®T &
(C) % &

(D) ¥
g §

(A) diRH

(B)

(C) S g

(D) SWad # | BIS T

(30)

94.

95.

96.

Characteristics of Z theory are :

(A)

(B)

(©)

(D)

A

of :

(A)

(B)

(©)

(D)

Not trust

Involvement of Employees

Both (A) and (B)

All of the above

H. Maslow was the resident

Germany

America

France

England

Leadership is :

(A)

(B)

(©)

(D)

Bossism

Fear

High post

None of the above
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97. SUHH & fdbrE & fory =< o : 97. For the development of an enterprise

leadership is :
(A) 3ifard (A) Compulsory
(B) 3MMdRID (B) Necessary
(C) IFTaRID (C) Unnecessary
(D) IHI DI 99ia (D) Wastage of time
98. g @ WUidd @&y T - 98. Power style of leadership is :
(A) SHI=IY (A) Democratic
(B) R (B) Autocratic
©) feyater (C) Free-rein
(D) Sugad F4l (D) All of the above
99. T dolc Udh ®Y BT & 99. Current Budget is a form of :
(A) THBTCH qoic @ (A) Long-term Budget
(B) IUBIIA quTC Pl (B) Short-term Budget
(C) fa%y Iuic &1 (C) Sales Budget
(D) SUYa H § I el (D) None of the above
100. 3fHET0T SH ATIYH ol © ¢ 100. Auditing is not necessary in :
(A) Taig o (A) Financial Accounting
(B) NTA oiRgih (B) Cost Accounting
(C) TdEIDHIT oI (C) Management Accounting
(D) STYd H § IS Tl (D) None of the above
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10.

11.

12.

Impt. :

Four alternative answers are mentioned for
each question as—A, B, C & D in the booklet.
The candidate has to choose the most
correct/appropriate answer and mark the
same in the OMR Answer-Sheet as per the
direction :

Example :

Question :

Q1T ® @ © ®
2 ® ® @ ©
3 @ @ © ®

Illegible answers with cutting and
over-writing or half filled circle will be
cancelled.

Each question carries equal marks. Marks
will be awarded according to the number of
correct answers you have.

All answers are to be given on OMR Answer
sheet only. Answers given anywhere other
than the place specified in the answer sheet
will not be considered valid.

Before writing anything on the OMR Answer
Sheet, all the instructions given in it should
be read carefully.

After the completion of the examination
candidates should leave the examination hall
only after providing their OMR Answer
Sheet to the invigilator. Candidate can carry
their Question BookKlet.

There will be no negative marking.

Rough work, if any, should be done on the
blank pages provided for the purpose in the
booklet.

To bring and use of log-book, calculator,
pager and cellular phone in examination hall
is prohibited.

In case of any difference found in English
and Hindi version of the question, the
English version of the question will be held
authentic.

On opening the question booklet, first
check that all the pages of the question
booklet are printed properly. If there is ny
discrepancy in the question Booklet, then
after showing it to the invigilator, get
another question Booklet of the same series.

4, YE-YRAH H U W & IR GRIT9T STR—
A, B,CTd D& | Wendi & S IR fddedi # 9
TP FO FE AT GeH SHE SR Bl © |
IR Bl OMR MR- § g go aver §
e JR WA 2
SRR
'EL
1 @ © O
w2 (A ® O
w3 D @ © ©
ST TR T U IR T2 Plel IT 98ell 1T
2, T T | ST R A7 T, S R IR
feam S |

5. UAP UM @ b GEH & A0S o TN
e B, I B AR 3P YIM b SR |

6. T SR dad 3l TA. IR, SR-U5F (OMR
Answer Sheet) R 8 A 99 2| SRS |
fRgiRd Yo & 3remar 3 del W foar wan
IR A=Y 8] 81|

7. 3i. TH. 3R. STR-U5& (OMR Answer Sheet) R
B N fore & 7@ I9H A T W0 orgen 3l
| Ig fora S |

8. WIeT 9Ud & ST Wt der fRierd @
3T OMR Answer Sheet SUTE XM & I
B WeT B W W By | weneff oo ey
TE-QRAHT o S A ¢ |

9. fanfeq afeT = 2|

10. @15 A WG BR, YH-YRAdE & 3 H, WH-IR
& forv fou @reh o W & far o =iy |

11, W ¥ |-, deigeicy, UoR T YR
B of ST T SHBT START HRAT afoid 8 |

12. 93 & Rl Ud IS ®UFRel § f=7ar g @
T H YT BT U WURYT & A BT |

qEcaqUl : YEIYRKIT Wie W Y Wi PR ol o

2y
i3
E
oy,
a,
j
8
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